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It is obvious; Rovo said, it was not necessary, etc.

Overview

The mawn stated that one may carry from one ship to another if they are tied together.
The X nx asked that this is obvious. X271 answered that the miwn is addressing a
specific case that one may carry even via the rowboat which is between the ships.
Our mdoin clarifies the case of the ships here.

= INVIYO 7999 291D THN DN DY MIODN VY 299197 PNYT RPYD NNYN
The X773 assumed now that we are discussing a case where the two ships belong

to one person, so therefore the X713 asks, XuSWd that he may carry -
- 0991 YN NONN 192 NNY N90THT PYVIVM PR MNVYP JINY)

But if they are not tied together one may not carry from one to the other (as the
mIwn states) even though they belong to the same person, because of an injunction

that perhaps the item will fall into the water (since the ships are not tied together) -
= 29991IND YNNI H°919995 NN MY YLV

And he will carry from a "'777 to a n°»%92 and he may come to bring it back —

mMooIN anticipates a difficulty:
= NN NN NNDMT 19991 NY (x,1x 97 30992 72 22) HI¥HT 2) HY 9N

Even though that previously regarding two houses (on two sides of a 13"77)
belonging to one person we do not make an injunction not to throw it from one
house to the other out of concern that it may drop in the 7"77 and perhaps he will
bring it back to the >"711, so why are we concerned by the ships —

mooin replies:
= 9593 N1DT 291V 91915 NIIN AP XYY M1’90a NON

Here by ships, which are not as stationary as the houses, there is more reason

! One may carry from one house to another house if they both belong to him and are adjacent to each other; he is
carrying *"'712 ", Similarly if the ships are both his and are tied together (so he is not passing through a n>>»12), it
is obvious he may carry from one to the other!

2 We are not concerned for the falling in of the object per se (since this is a case of poynn), but rather that he will try
to retrieve it by extending a long pole (or net) from the >"77 (the ship) into the water (n°9%73 [this is the meaning of
o193 2" Yuhund]) and then he will bring the item back to the *"77 from the n*91m73 (this is the meaning of *nX
"™MNKRY). See R"wmn. Others say simply that 191737 2" here means *"77% n*on750.

3 The ’n>"2 there rules that one may throw from one house to another house "n 79yn% 3"77 7717 provided they both
belong to him, We are not concerned that perhaps it will fall in the 7"77 and he will bring it from the 3" to his house.
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for the injunction that perhaps it may fall -
= HUHVYY 29YH NON NIIKI XY 4720109

And X790 27 concluded, ‘rather the 71w»n was necessary that one may make an

217 and carry’ from one to the other even if they belong to two separate people -
- DY MMAP PRY 29 DY OGN /2902 %110 21T )0 ¥1IYN NP

And the 71wn is informing us that an 219 is effective by ships even though they

are not stationary there; they move about -
= 65311197 19 ¥NRWYN X 52195y NINd XY OV NYNY MTINY PRY 119D PHYT XNPLHOT

For we may have assumed that since they will not remain there, the 217>y should
not be effective, the 71w informs us that it is effective.

mooIn offers an alternate interpretation of the X nx:’
= DN 233 9 DY MIP2DA 29N MIN I3 NIPIYNT PN 13929 W91 1Y)

And additionally the >''9 explains that initially we were also discussing a case of

two ships which belonged to two people -
= 2)95¥ %1197 RVIWD 7999 291 122ANY 11D 112 PIVDVNRT IINRP 21Y 21> b

And it was understood that we may carry from one ship to the other by making
an 217%, and nevertheless the X ) asked that it is obvious that an 2% is

effective -
= 2)9%Y NN 23N N9 ]’5\97\?}9 PR MHNVYP PNYI 85919

So therefore it is understood that when the two ships are not tied to each other, we
may not carry from one to the other, for in that case an 219 is ineffective —

4 The ships belong to two people. One is not permitted to carry from his >"77 to another’s "7 unless he makes an
nvxn 21y, The mwn teaches that if an 217° is made, one may carry from one ship to the other.
5 The concept of an 2177y is that we consider the separate *"711 as if they are one nwA. This makes sense by houses (or
courtyards) which are stationary, so through the 217°v they are considered as one; however by the ships, one may have
thought that since eventually the ships will be going their separate ways, how can we say they are one mMw2? Our mwn
teaches that since at the present they are tied together, we consider them as one mwn as of now.
¢ According to this interpretation the question Xu*w» is easily understood, for since both ships belong to one person,
he may surely carry from one to the other. However what is not that easily understood is why if they are not tied, he
may not carry from one to the other as '01n asked (and answered).
7 See footnote # 6, why the first interpretation is not entirely satisfactory.
8 This is the advantage in this second interpretation that now it is easily understood why if they are not tied together
one may not carry from one to the other (since they are owned by different people and an 217"y is ineffective since
they are not joined); however according to the first interpretation that the boats belonged to one person there was a
difficulty why he cannot carry from one to the other; why is this different from 0°n2 "1 as n1901n discussed previously.
However the question Ruw» is not that readily understood in the " w170 (as it was in the first interpretation) for here
there is a (slight) w1711 that 217°V is effective even by ships as M50 mentioned previously. Presumably according to
the "1 the difficulty with the first "5 (why cannot one carry if they are not tied), is greater then the difficulty of the
current " (why is it Xu°wd that an 217 is effective by ships). [The first difficulty is that the ruling is wrong, the second
is merely that it is not such a simple Xvw», 5"?1.]
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$95999 NOINTIY YIWPNIN 19TNT 1153 17093 19%9N) HVIVYY 2985 NIN NII¥I XY H01)
And the X713 concluded that it was not necessary to teach this rule only in a case
where we needed an 219°p to carry,” and this 17y is effective even if the ties
between the ships were severed, as long as they were retied again, and as the
Xn»=2 taught,'’ etc.

Summary
In the X" we may be either discussing two ships belonging to the same person (and

by 2™ 1wp X he is forbidden to carry from one to the other because it may fall), or
we may be discussing ships that belong to different people with an 217"y and it is
easily understood why if they are not tied it is forbidden 1% i H020°5.

Thinking it over

One may not be 27y two M7°Xn unles there is an opening between them which is
lower than ©v" (or there is a ladder with which one can go over the dividing wall.
Why therefore do we say here that we can make an 217°¥ between the ships, when
(presumably) the walls of the ships are more than v"?!!!

9 From the simple reading of the X723 it appears that the w17°n of X190 21 is that it belonged to two people and they
made an 27" (as we understood in the first interpretation). However since the *"1 explained that in the X"17 we are
also discussing an 217"y, what is X190 27 telling us? Therefore '01n responds that X150 27 meant that one may carry
with an 27°Y even if the ships were temporarily detached, as long as they became tied together later.
10 According to this >"9 the '®*1n721' is a continuation of s'%750 11 answer that the 71wn is in a case like the case in the
{n»72 where (an 217"y was made) the boats were first tied (when the 217°y was made) and later became untied and then
tied again. The w1711 is that the 217°Y is still valid.
' See 7"2877 owa X"2wA.
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